IRONRIDGE QuickMount” Lynx”

Standing Seam Metal Clamp

\L-Foot shown

for reference

ITEM NO DESCRIPTION QTY IN KIT
1 LYNX BLOCK 1
2 HEX DRIVE SET SCREW, 3/8-24 2
3 BOLT, HEX, 5/16-18 X 1" 1
4 SERATED FLANGE LOCK NUT 1

PART NUMBER DESCRIPTION
QM-LYNX-SS LYNX STANDING SEAM METAL CLAMP

Q

© 2021 IronRidge, Inc. All rights reserved. Visit www.ir-patents.com for patent information. QM-LYNX-SS-M1 Cut Sheet Rev 1.0




1) LYNX BLOCK ~—2.00 —=
)’3 (!
! — -
90 K 43 10
Property Value
Material 6000 Series Aluminum
Finish Mill

2) HEX DRIVE SET SCREW, 3/8-24

3/8-24

3/8"

38

Allen Key

Property Value
Material 300 Series Stainless Steel
Finish Clear

3) BOLT, HEX, 5/16-18 X 1"

1

Q 1/2" Head

T

Property Value
Material 300 Series Stainless Steel
Finish Clear

© 2021 IronRidge, Inc. All rights reserved. Visit www.ir-patents.com for patent information.

QM-LYNX-SS-M1 Cut Sheet Rev 1.0




4) SERATED FLANGE LOCK NUT

1/2" Head
27
5/16-18
69
Property Value
Material 300 Series Stainless Steel
Finish Clear

Q

© 2021 IronRidge, Inc. All rights reserved. Visit www.ir-patents.com for patent information. QM-LYNX-SS-M1 Cut Sheet Rev 1.0






